




 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



http://literature.rockwellautomation.com/idc/groups/literature/documents/in/1770-in041_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/in/1770-in041_-en-p.pdf
http://ab.rockwellautomation.com/
http://www.rockwellautomation.com/literature
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ao10 := ai101 + ai102; 

ao5 := (ai51 + ai52) + ai53; 



 





 





 





 





 





 





 

ao10 := ai101 / ai102; 

ao5 := (ai5 / 2) / ai53; 

 



 

 





 





 





 

 

ao23 := ai10; 

 



 

 

ao10 := ai101 * ai102; 

ao5 := (ai51 * ai52) * ai53; 

 



 

 

ao23 := - (ai10); 

ro100 := - (ri1 + ri2); 
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ao10 := ai101 - ai102; 

ao5 := (ai51 - 1) - ai53; 
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F_TRIG1(cmd); 

nb_edge := ANY_TO_DINT(F_TRIG1.Q) + nb_edge; 

 

 



 

 



R_TRIG1(cmd); 

nb_edge := ANY_TO_DINT(R_TRIG1.Q) + nb_edge; 



 



RS1(start_cmd, (stop_cmd OR alarm)); 

command := RS1.Q1; 



 

bo10 := bi101 OR NOT (bi102); 

bo5 := (bi51 OR bi52) OR bi53; 

 



 

 

bo10 := bi101 AND NOT (bi102); 

bo5 := (bi51 AND bi52) AND bi53; 

 



 

 

bo10 := bi101 XOR NOT (bi102); 

bo5 := (bi51 XOR bi52) XOR bi53; 

 



 

 

bo10 := NOT (bi101); 

 

 



 

 



SR1((auto_mode & start_cmd), stop_cmd); 

command := SR1.Q1; 



 



 







 



 

 

 

 

 

 

 

 

 











 

 

 

 

 







 



 

 



 



 



 

 

 



 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 



 





 





 

 

 

 

 

 

 

 

 



 

 

 

 

Note: Only global variables are supported. 
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Timing diagram for (Rung = TRUE) 

 







 

Timing diagram for (Rung = FALSE) 

 

 



 

 

 

 



 

 



 

 

 

 

 

 

To access the EtherNet/IP manual from the Help menu 

 

 

 

 

 

http://literature.rockwellautomation.com/
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aresult := (10 = 25); (* aresult is FALSE *) 

mresult := ('ab' = 'ab'); (* mresult is TRUE *) 

 



 

 

aresult := (10 > 25); (* aresult is FALSE *) 

mresult := ('ab' > 'a'); (* mresult is TRUE *) 

 



 

 

aresult := (10 >= 25); (* aresult is FALSE *) 

mresult := ('ab' >= 'ab'); (* mresult is TRUE *) 

 



 

 

aresult := (10 < 25); (* aresult is TRUE *) 

mresult := ('z' < 'B'); (* mresult is FALSE *) 

 

LD 10 

LT 25 

ST aresult 

LD 'z' 

LT 'B' 

ST mresult 



 

aresult := (10 <= 25); (* aresult is TRUE *) 

mresult := ('ab' <= 'ab'); (* mresult is TRUE *) 

 



 

 

aresult := (10 <> 25); (* aresult is TRUE *) 

mresult := ('ab' <> 'ab'); (* mresult is FALSE *) 



 



 

 

 

 



 

(*ST Equivalence: CTD1 is an instance of block *) 

CTD1(trigger,load_cmd,100); 

underflow := CTD1.Q; 

result := CTD1.CV; 

 

 



 

 

 

 



CTU1(trigger,NOT(auto_mode),100); 

overflow := CTU1.Q; 

result := CTU1.CV; 

 

 



 

 



 



(* ST Equivalence: We suppose CTUD1 is an instance of block*) 

CTUD1(trigger1, trigger2, reset_cmd, load_cmd,100); 

full := CTUD1.QU; 

empty := CTUD1.QD; 

nb_elt := CTUD1.CV; 



 



 

 

ares := ANY_TO_BOOL (10); (* ares is TRUE *) 

tres := ANY_TO_BOOL (t#0s); (* tres is FALSE *) 

mres := ANY_TO_BOOL ('FALSE'); (* mres is FALSE *) 



 

 

bres := ANY_TO_BYTE (true); (* bres is 1 *) 

tres := ANY_TO_BYTE (t#0s46ms); (* tres is 46 *) 

mres := ANY_TO_BYTE ('0198'); (* mres is 198 *) 



 

 



 

 

bres := ANY_TO_DINT (true); (* bres is 1 *) 

tres := ANY_TO_DINT (t#1s46ms); (* tres is 1046 *) 

mres := ANY_TO_DINT ('0198'); (* mres is 198 *) 



 

 

bres := ANY_TO_DWORD (true); (* bres is 1 *) 

tres := ANY_TO_DWORD (t#1s46ms); (* tres is 1046 *) 

mres := ANY_TO_DWORD ('0198'); (* mres is 198 *) 



 

 

bres := ANY_TO_INT (true); (* bres is 1 *) 

tres := ANY_TO_INT (t#0s46ms); (* tres is 46 *) 

mres := ANY_TO_INT ('0198'); (* mres is 198 *) 



 

 

bres := ANY_TO_LINT (true); (* bres is 1 *) 

tres := ANY_TO_LINT (t#0s46ms); (* tres is 46 *) 

mres := ANY_TO_LINT ('0198'); (* mres is 198 *) 



 

 

bres := ANY_TO_LREAL (true); (* bres is 1.0 *) 

tres := ANY_TO_LREAL (t#1s46ms); (* tres is 1046.0 *) 

ares := ANY_TO_LREAL (198); (* ares is 198.0 *) 



 

 

bres := ANY_TO_LWORD (true); (* bres is 1 *) 

tres := ANY_TO_LWORD (t#0s46ms); (* tres is 46 *) 

mres := ANY_TO_LWORD ('0198'); (* mres is 198 *) 



 

 

bres := ANY_TO_REAL (true); (* bres is 1.0 *) 

tres := ANY_TO_REAL (t#1s46ms); (* tres is 1046.0 *) 

ares := ANY_TO_REAL (198); (* ares is 198.0 *) 



 

 

bres := ANY_TO_SINT (true); (* bres is 1 *) 

tres := ANY_TO_SINT (t#0s46ms); (* tres is 46 *) 

mres := ANY_TO_SINT ('0198'); (* mres is 198 *) 



 

 

bres := ANY_TO_STRING (TRUE); (* bres is 'TRUE' *) 

ares := ANY_TO_STRING (125); (* ares is '125' *) 



 

 

ares := ANY_TO_TIME (1256); (* ares := t#1s256ms *) 

rres := ANY_TO_TIME (1256.3); (* rres := t#1s256ms *) 



 

 

bres := ANY_TO_UDINT (true); (* bres is 1 *) 

tres := ANY_TO_UDINT (t#1s46ms); (* tres is 1046 *) 

mres := ANY_TO_UDINT ('0198'); (* mres is 198 *) 



 

 

bres := ANY_TO_UINT (true); (* bres is 1 *) 

tres := ANY_TO_UINT (t#0s46ms); (* tres is 46 *) 

mres := ANY_TO_UINT ('0198'); (* mres is 198 *) 



 

 

bres := ANY_TO_ULINT (true); (* bres is 1 *) 

tres := ANY_TO_ULINT (t#0s46ms); (* tres is 46 *) 

mres := ANY_TO_ULINT ('0198'); (* mres is 198 *) 



 

 

bres := ANY_TO_USINT (true); (* bres is 1 *) 

tres := ANY_TO_USINT (t#0s46ms); (* tres is 46 *) 

mres := ANY_TO_USINT ('0198'); (* mres is 198 *) 



 

 

bres := ANY_TO_WORD (true); (* bres is 1 *) 

tres := ANY_TO_WORD (t#0s46ms); (* tres is 46 *) 

mres := ANY_TO_WORD ('0198'); (* mres is 198 *) 
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(* ST Equivalence: AVERAGE1 an instance of an AVERAGE block *) 

AVERAGE1((auto_mode & store_cmd), sensor_value, 100); 

ave_value := AVERAGE1.XOUT; 
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file://usmkevfile001/Shared005/Author-IT-Prod/Publishing/IndividualPublishing/amaylahn/Word%20Document%20for%20PrintPDF%20manuals/2080-RM001A-EN-E/O_133682
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KEY_READ_1(KEYENABLE) ; 

KEY_EKYL := KEY_READ_1.EKYL ; 

KEY_CKY := KEY_READ_1.CKY ; 

KEY_EKY := KEY_READ_1.EKY ; 

KEY_UKY := KEY_READ_1.UKY ; 

KEY_DKY := KEY_READ_1.DKY ; 

KEY_RKY := KEY_READ_1.RKY ; 

KEY_LKY := KEY_READ_1.LKY ; 

 



 

 

 

 

 

 



 

 

 

 

 



 

 

 

 

 

 





 





 



 







 



 

 

 

 



 



 





 



 

 



 

 



 

 

 

 



 



 

 

 

 

 



 

 



 



 

Note: This is ignored by Micro810 controllers. 



 

 



 



 





 

Note: For future release 

Note: For future release 

Note: Only supported for Micro830 and Micro850 controllers. Value for Micro810 controllers remains 0. 
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Note: Executing MC_Halt during homing, MC_Halt is set to MC_FB_ERR_STATE 

and the homing process continues. 

Note: If Deceleration <= 0 and the axis state is not Standstill, MC_Halt is set to 

MC_FB_ERR_RANGE. 

Note: If Jerk < 0 and the axis state is Standstill, MC_Halt is set to 

MC_FB_ERR_RANGE. 







 

 



 

 







 



 

 

 

 

 



 

Note: The technical unit is defined in the Motion - General configuration page for an axis. 

Note: When the value of the input Jerk = 0, the Trapezoid profile is calculated by Motion Engine. 

When Jerk > 0, the S-Curve profile is calculated. 
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Note: The maximum velocity may not be reached when Jerk = 0. 









 

 

 

 

 

 



 

 

 

 

 











 

 

 

 

 

 

 

 



 

 







 

 



 







 



 

 



 







 

 

 









 









 







 

 

 

 



 

 

 

 

 







 

 

 

 



 







 

 

 

 



 



 





 





 

 

 
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 

Note: When (MC_ExecutionMode = 0), for all parameters except Duty Cycle (1005), 

this FB can be completed successfully only when the axis state is Disabled or 

StandStill,  

When (MC_ExecutionMode = 0), for Parameter Duty Cycle (1005), this FB can be 

completed successfully except the axis is in Homing or ErrorStop state. 
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 

Note: When (MC_ExecutionMode = 0), for all parameters except Duty Cycle 

(1005), this FB can be completed successfully only when the axis state is Disabled 

or StandStill,  

When (MC_ExecutionMode = 0), for Parameter Duty Cycle (1005), this FB can be 

completed successfully except the axis is in Homing or ErrorStop state. 

 









 



 



 

 

 

DERIVATE1(manual_mode, sensor_value, t#100ms); 

derivated_value := DERIVATE1.XOUT; 
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INTEGRAL1(manual_mode, NOT(manual_mode), sensor_value, 

init_value, t#100ms); 

controlled_value := INTEGRAL1.XOUT; 
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SCALER1(Signal_In, 4.0, 20.0 , 0.0 , 150.0 ) ; 

Out_Temp := SCALER1.Output ; 
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STACKINT1(err_detect, acknowledge, manual_mode, err_code, 

max_err); 

appli_alarm := auto_mode AND NOT(STACKINT1.EMPTY); 

err_alarm := STACKINT1.OFLO; 

last_error := STACKINT1.OUT; 



 

Note: When variable monitoring is on, the monitoring variable’s value is 

assigned to the block’s output. 
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(* ST equivalence: IPIDController1 is an instance of 

IPIDController block *) 

 

IPIDController1(Proc, 

    SP, 

    FBK, 

    Auto, 

    Init, 

    G_In, 

    A_Tune, 

    A_TunePar, 

    Err ); 

Out_process := IPIDController1.Output ; 

A_Tune_Warn := IPIDController1.ATWarning ; 

Gain_Out := IPIDController1.OutGains ; 
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Note: This is ignored by Micro810 and Micro820 controllers. 
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Note: This function is case sensitive. 
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Note: If you use the EN parameter with this block, the timer starts 

incrementing when EN is set to TRUE, and continues to increment even if EN 

is set to FALSE. 
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Note: If you use the EN parameter with this block, the timer starts 

incrementing when EN is set to TRUE, and continues to increment even if EN 

is set to FALSE. 







 

Note: If you use the EN parameter with this block, the timer starts 

incrementing when EN is set to TRUE, and continues to increment even if EN is 

set to FALSE. 







 

Note: If you use the EN parameter with this block, the timer starts incrementing when 

EN is set to TRUE, and continues to increment even if EN is set to FALSE. 







 







 





 



 





 

 







 



 

 

 

 

 

 

 

 

 



 

 



 

 

 





 

 

 



 

 

 



 

 

 



 

 



 

 

 

 



http://www.rockwellautomation.com/support
https://rockwellautomation.custhelp.com/
http://www.rockwellautomation.com/services/online-phone
http://www.rockwellautomation.com/locations
http://literature.rockwellautomation.com/idc/groups/literature/documents/du/ra-du002_-en-e.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/du/ra-du002_-en-e.pdf

